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I1I Semester B.Com. Examination, QOctober/November 2018
(Scheme : RS 16-17) (Freshers of Nov./Dec. 2017 and Onwards)
BUSINESS DECISIONS

Time : 3 Hours Max. Marks : 80
Instruction:  Aunswer all the parts,
QR R LwI0N.

PART - A

o - 2
Answer any iwo questions. Each question carries 20 marks.
CIMFHTHTTH oCHE: SZAen su3dA. I IR 20 wonso.

Q1) Define Business decision. Explain the basic concepts of business decision.

BT Drer obTI, TYSTHDA, Smo0 Rrrabt Shevied SO TINTTL,
=Bk

(2) What is time value of money? Explain the reasons for time preference of
moncy.
Ravi borréwed a 12 year loan of Y15,00,000 at 8% from Bank te construct a
house. He has to make repayment at the end ofeach year. Calculate the annual
instatiment and prepare loan Amortization table.

Bred Fabod a@ezsaaﬁa’? e Ashoho e:e:iﬁécm aadmﬁfé?dhi SHFOA.
O 0Th 12 S=rs @i e 8 e w%ﬂ o, 15,00.000 oL,
méoﬁaod s LISV edciadn@é. méoésﬁ T3 SWEW ecInY Hd
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(03) Whatis linear programming? Mention the applications of linear progratnming;
A manufacturer produces two types of product A and product B. Raw materials

R, and R, are required for production. Each unit of product A requires 5 kgs

c-fR and 7 kgs for R, Each unit of product B requires 3 kgs ¢f R, and 11

kgs nfRQ 1500 kgs of Raw matenal R, and 3850 kgs of Raw matenal R_ are
available in a week. Profit per unit {)fA and B are Rs.10 and Rs.12 per unit
respectively. How many units of product A and product B are to be produced

in order to maximise the profit? Solve by graphical method and verify the

answer.
Oenohs’ sobF gt HoT0e? Oedodo” RODFTRE WOINYRY, 39AT?
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é:s:a’m ar'** = ué TR ‘J" '’ dé’m 20T 1 rs o, 10 & “**T R~y
78S 0T wO:L.;E“g o, 12 RGN, no%y woes a..c’o:Sc:é P :&."J; 2
ROBATR, o) ﬁmd@ PBROTVT? FF THEORY VRO, YOFTIW,
&L,

(4) What is calculvs? Explain briefly the types of caleulus.
The total cost and total revenue functions for a product is
T_ = 72,500+15x+0.0015%3
T, = 90x — 0.006x

Find:

a) Marginal cost function

b) Marginal Revenue function

¢) The level of output which yields maximum profit.
d) Maximum profit at that level

e} Average cost function
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T.= 72,500+15x+0.0015x2 E.Z'DE:_D‘
T, = 90x - 0.006x*
FOE LD .
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PART-B
-
Answer any two questions. Each question camries 10 marks.

SITDYPTRTAR HOE JFren wIdL. B3 JER 10 wesnd.

The following information is furnished by a company ltd.

Direct Materials 9,50,000

Direct Labour 6,15,000
Manufacturing expenses 7,50,000 (60%variable)
Administration expenses 1,00,000 (80%Fixed)
Sales expenses 1,75,000 (100%variable)

If the firm manufactures 25,000 units. Find the seiling price under mark up
pricing method if profit is

a) 25% on selling price

b} 20% on cost
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9,50,000

6,15,000

750,000 (60% 2:8werbs St)
3,00,000 (30% ANO3)
1,75,000 (100% w3cams P

(6} The Marginal cost function of a product is given by MC=500-0. Lx. The average
cost is ¥ 495/-, when the output level is 500 units. Find the total cost and
average cost function.

womd FROF 2T0SE SHH0 seobrsy MC=500-0.1x @g. Xooxd &

On. 495 ©hmy, 500 okl wsg_csﬁo:bmd SRS, Wiy ﬁe.{'; V)
Aoond S Howor FOmBLANE.

7) The Cash flow of two aiternatives are as foliows.

Year

|
2
3
4

5

Project A
30,000
50,000
60,000
90,000
95,000

Project B
50,000
60,000
70,000
75,000
90,600

[nitial investment is Rs.4,00,000, if the discounting rate is 12% . Evaluate the
projects using the net present value.
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07 20 Solnprabny SNt D05 LS.

RnIF cdmesE o cinemd o
L ’ 30,000 50,000
2 50,000 60,000
3 60,000 70,000
4 90,000 75,000
5 95,000 90,000

SU0RE TeRE 4.00.000 SN, Do TTF) Be. 12 ShGS. AFY TN
D[PO,T, WELER0E ClnemIdned, ISP SInITS Ina.

C3adaact “ [
08) Briefly explain the decision making process.
desor s Jpmd Tgedhoba, XogZmmh DDk

PART - C
o0 -2
Answer any four questions. Each question carries 5 marks.

CCRPYTITTUR Ty, TJAYR cvIdr. IS IR 5 sosned.

09) Vinod deposits Rs.20,000 2t the end of each year for 5 years and the deposit
earns a compeund interest at 8% p.a. Determine how much money he wiil
have at the end of 5 years.

LR e JT|ERP 5 SIFEAYSEA de, 20,000 Feed Eimﬁazgﬁ. ﬁ:a_)‘
Be3ed T3 IFE Je. 8 U Roodng PO, OO, 5 JIENRY
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010)The following is the cost structure of a manufacturing company for 20,000
units of production.

Fixed over heads 1,206,000
Variable over heads 2,0 U;(JDG
Direct wages [,50,000
Direct Matenals 4,10,000

If the firm wishes to earn a profit at 30% on selling price. Find out the selling
price under marginal cost pricing method.

AN 20,000 T FEReR evEEme soDRd Fuy SuEgekens.
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A Sned 1.20,{]05}
wooerbs S 2,00,000
NeD Re3T 1,50,000
Sed JRIND 4,10,000

Soew BSR Je. 30% PSR, NPT k‘o%crba wobTITRY. vy S
38 JRIT BACRY TRoAwT B30, ForLAD.
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L1DIf y=10x"+5x*—8x*+15x+500 Find ‘F Send your old paper & get 10/-

;9 gUE 99 S 3R 10 93 9,

) Pavtm or Google Pay &
d
y=10x"+5x0-8x*+ | 57 +500 938 dx”;_" 30T BIN0.
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